ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0237

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.101015, 3RE.201015 & 3RE.201025 Long-Arm Mowing along Primary & Secondary Paved Routes and Secondary Unpaved Routes in Brunswick County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000100000-N	800	MOBILIZATION	1	LS	6,500.00	6,500.00	V
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	3,000.00	9,000.00	
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	1,000.00	3,000.00	~
4	6136000000-Е	SP	LONG-ARM MOWING, PRIMARY ROUTES	222.08	SMI	254.50	56,519.36	v
5	6136000000-Е	SP	LONG-ARM MOWING, SECONDARY ROUTES, (PAVED)	534.04	SMI	254.50	135,913.18	_
6	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (UNPAVED)	5.16	SMI	254.50	1,313.22	7

CORPORATE SEAL

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance,

Bonds, and Contract Execution)	
Namenoah Saunier	
Email DGCCO1221@gmail.com	
Phone 828-506-0112	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA	
DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications	
fpg Roads and Structures 2024.	
Reviewed by NCDOT Date 7/3/25	
Accepted by NCDOT Jather Miles Date 7/3/202	25

ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0237

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.101015, 3RE.201015 & 3RE.201025 Long-Arm Mowing along Primary & Secondary Paved Routes and Secondary Unpaved Routes in Brunswick County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID	
1	0000100000-N	800	MOBILIZATION	1	LS	\$1000.00	\$1000.00	-
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$300.00	\$900.00	,
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	EA	\$300.00	\$900.00	~
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	222.08	SMI	\$225.00	\$49,968.00	~
			LONG-ARM MOWING,					
5	6136000000-Е	SP	SECONDARY ROUTES, (PAVED)	534.04	SMI	\$210.00	\$112,148.40	
6	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (UNPAVED)	5.16	SMI	\$250.00	\$1,290.00	V

TOTAL BID FOR PROJECT: \$166,206.40 ~

CONTRACTOR PLCL Contracting LLC		
ADDRESS P.O. Box 282 Ayden, NC 28513		
Federal Identification Number 83-3822743		
Contractor's License Number N/A		Contraction
		CO CINBILITY COR
Authorized Agent Maria Rogerson	Title Manager	SEAL S
Signature Maria Rojusiu	Date 7-2-2025	North Carolina
Witness Sherri Taylor	Administration	2019
		7

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)	
Name_Maria Rogerson	
Email_plclcontractingllc@gmail.com	
Phone 252-341-7953	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024. Reviewed by NCDOT Reviewed by NCDOT	
Accepted by NCDOT Date 7/3/25 Accepted by NCDOT Date 7/3/2075	

ITEMIZED PROPOSAL FOR CONTRACT NO. D3POC0237

North Carolina Department of Transportation PURCHASE ORDER CONTRACT BID FORM

WBS Number: 3RE.101015, 3RE.201015 & 3RE.201025
Long-Arm Mowing along Primary & Secondary Paved Routes and Secondary
Unpaved Routes in Brunswick County

ITEM	DESC	SECT	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0000100000-N	800	MOBILIZATION	1	LS	1,000.00	\$1,000.00
2	6132000000-N	SP	GPS OUTFITTING FEE	3	EA	\$200.00	\$600.00
3	6132000000-N	SP	GPS SUBSCRIPTION FEE	3	ГА		\$600.00
4	6136000000-E	SP	LONG-ARM MOWING, PRIMARY ROUTES	222.08	SMI		U8,400,64
			LONG-ARM MOWING,				
5	6136000000-Е	SP	SECONDARY ROUTES, (PAVED)	534.04	SMI	\$ 290.00	\$154,871.60
6	6136000000-E	SP	LONG-ARM MOWING, SECONDARY ROUTES, (UNPAVED)	5.16	SMI	# 290.00	1,496.40

TOTAL BID FOR PROJECT: 4226,968.6	<u>+ // // // // // // // // // // // // //</u>
contractor JMC Clearing & Mulching LLC address 4059 Horrison- Phelps Rt. LaGra	me, NC 2855/
Federal Identification Number 85-1829790	,
Authorized Agent Jaime Moove Title Member - Cluber	CORPORATE SEAL
Signature Date 7-2-1625 Witness Judy J. Harrison Title WHNESS	
Signature Dudy O. Jamison Date 7-2-2025	

Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)
Name Joine Moore
Email jaineharrisonmoore@gmail.com
Phone 252-559-9960

THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION

This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2024.

Reviewed by NCDOT Likas Bende Mallind Date 1/3/2025

Accepted by NCDOT Quille MHILL Date 7/3/2025